> # Number =pl-p2-.. -pn, plh +p2h +... -I—pnh =prime andN and it's h XPrime number
L byH« E 2020 —8—27:
> with(StringTools) : print( "1 HI1HZE", FormatTime ("%Y -%m-%d-(%r)") )
" - H A" "2020-08-27-(04:01:46 AM)" Q)
> print( ) : print(BE 7 HEZD (4} LISk D [ 58550 & FI DX IE7{1000},
FormatTime("%Y-%m-%d-(%r)") ) :for n from 1 to 1000 do for / from 1 to 20
do fs:==0:fshp == 0:ft:= n:fp:= 2 :nc := 0 :forp from 1 ton doif ft mod fp =

thennc := nc + 1:ft == % FT| nc:= fp:fs:= fs+ fp:fshp —fshp+fp

else fp := nextprime( fp) ficod: if nc=1and 2 =1 and n +# 4 then print(n|fac
=[seq(FT| j,j=1.nc)]1=prime[ {0} KDFEH =n)) elifisprime( fshp)

then print(n[ fac = [seq(FT || j,j=1..nc)]]=Prime[ {h} X DFEI = fshp]) :break if:

od: od: print(#E I HZFD {4) Mﬁ@ﬁﬁﬁ&wﬁﬁ@xfﬁ%{m%}

FormatTime("%Y-%m-%d-(%r)") ) :

EFIHEZED (4} LISk [ 85 E F DS {1000}, "2020-08-27-(04:03:47 AM)"
2 fue=[2] ~PTIMe ) yeon =2
3uc=13] ~PTIMe ) peopsi=3
Stuc=15] ~PTIMe 0y e sii=s
O uc=12,3) =~ Prime 1y yeorssz=s
Ttac=171 ~PTiMe 0y eon56=7
IOfaC: 2, 5] =Prime{1} hDF=T
Ve iy =Primeg oy seon = 11
1200212, 2, 3y = Prime y yepp e
13fac [13] prlme{o} Ko FK =
14fac—[ 7 Przme{z} KD FE K=
17fac [17] ~PTMe g, e =17
19fac:[ 19] prlme{o} KoK=
22— 12, 11y~ Prime s e gexr-
23fac 23] przme{o} I K=
267,0— 12, 13) = Prime sy e sre-173
28ﬂ1c=[2 2,71 = Prime s e g- 11
29fac:[ 29] przme{o} KoK=
3 o= 31 TPTIME ) e =31
34 ie= 12, 17) = Prime s e gr-19
37 fae= 1371 PTIMEL ) e s=37
38 ie=12, 19) = Prime gy e 0 =130337
4050= 12,2, 2,51 = Primegyy e sse-11
H e (a1] = PTIMEL Gy eon et = a1
43fac:[ 43 prlme{o} KD F K =43
45ﬂ1c=[3, 3,51 = Primegyy e -1




4650 2, 231 = Prime 4y yen g1 = 279857
47fac:[ 47] przme{o} hDFS= 47
A8 =122, 2,2, 31 “Prime 1y ye g
32f0e=12,2,13] = Prime s e zeni= 17
53fac 53 przme{o} K3 =
Spe=12,3,3, 31 = Prime gy yep g1
50u0= 12,2, 2,71 = Prime yy yepgeni—

38 ie=12,20) = Prime yy s gesr— 31
39 ue=150] PTIME ) en =59
61 0= (611 =PTIMe ) e st=61

03 ie=13,3,7) ~Frime yy gz 13

67 fae=167] =PTIMC 0y e s 67
T o= (717 =PTIMEL ) e =71
T3 fae=173) = PTIMCL0) seon 8=

T4 fue=12, 371 = Prime o, yeo 0= 1373
Tpae=13,5,5 = Prime .y e ss-13
T0/uc= 12,2, 19] = Prime v yeonzex- 23
79 ae=179] =PTIME 0y e p e 12=79
80/c=12,2,2,2, 51 = Prime y e ge-13
82 =12, 41) = Prime s s gem— 43
83 juc=[83) ~PTIMeL0y yeon5=83
88 c=12,2,2, 1] ~Prime yy yepgse-17
89 tuc= 1891 ~PTIMe 0y yeon 3= 39
90e=12, 3,3, 51 = Lrimeyy e sepr-13
4 o= 12, 471 = Prime oy s 0= 2013
96 =122, 2,22, 31 ~Prime y e gex-13
N fae=197] =PTIMeL 0y e esr=07
99 ue=13,3, 1) = Frimegyy e sxe-17
101fac [101] ~PTMe oy yeon #=101
1030 [103) =PTiMe 0y yeon 3= 103
104402 12,2, 2, 13) = Prime s e ss-19

1054,0— 13,5, 7) = Prime oy yeppgem—s3

107 e~ [107) =PVime oy e s36=107
108 0= 12,2 3,3, 3 = Prime \y o sex-13
1090 [100] =PTIMeL0y speon 5= 100

V13— 113) =Prime oy yeop ge= 113



W pem 3,3, 13) = Prime gy e - 19
llgfac 12,59 = Primey e - 61
122 0c=12, 611 = Prime 4y veon - 13845857

126,012 3,3, 7) = Prime 5y yeon ges7—

127 e~ 127) =PYIMe gy speons56-127

131 e 131) =Primegy yeon =131
134,012, 671 = Prime 5y yeon 5= 4493
136,012, 2,2 17) = Prime 1y yeop -
137 pie=[137) =Primegoy e s36=137
139 e [130] =PTIMe 0y speon56=139
14212, 71y = Prime e op g5 73
146, (2 731 = Prime 5y e 5= 5333
147 o= 13,7, 7 = Primegyy e sse-17
148fac* 12,2,37) = Prime y e - a1
1490 (1a9) = PTiMe 0y e = 149
IS1 e 151y =Prime gy e ge= 151
15202122, 2, 19) = Prime oy e - 373
153 0c= 13,3, 17) = Primey yep =23
157 o= (157) =Primegg, e s56=157
158 = 12, 70) = Prime 4y yeon 1= 38950097
1630 [163) =PTMe0y yeon 35= 163
165,,._ (35, 1] = Primeyy e - 19
167fac [167] = PTiMe oy yeon =167
171 o= 13,3, 19) = Prime oy e g - 379
1720002 12,2, 431 = Prime e - 47
173fac [173] ~PTIMe 0y yeon F86=173
1750215, 5,71 = Prime yy e zes0=17
17602122, 2,2, 117 = Frime yy e z5-19
178 o= 12, 891 = Prime 16y yeon 2= 15496731425178936435099327796097
179 ie= (179) = PTiMeL 0y e = 179
1810 (181) =Prime oy e 386= 181
184/~ 12,2, 2,231 = Prime 1y yeons5=29
191 e [101) =Prime gy yeon 3= 101
193 0= (193) =PTiIMe oy yeon 3= 193
194 =12, 97y T PTIMe 2y s p 32— 913
197 o= (107) = PTiMeE 0y e =197



198 0= 12,3, 3, 1) = Prime s e s5-19
199fac [199] = PTIMe oy yeon = 199

2027,0- 12, 101] = Prime 1y s gea= 103

206,12, 103) = Prime oy e 5= 10613

207fac (3,3,23] = Lrime v oo gepi—

ZIOﬁw,[z’ 3,5, 7] Przme{l} K DFES =17

21 e 211y T PTIME Gy e p F= 211
214fac*[2, 107] = Prime 1y e gex= 100
223

uc=1223] ~ PTIMEL0y e =223
224021222, 2,2, 71 ~Prime yy e ges—17
227 o= 1227) ~PTIME 0y s p =227
229 1= 1220) = PTIMEL 0y e 3= 229
23113 7, 1)~ Prime oy yeo g =179
232 =12, 2,2,29] ~ Prime oy oo z5- 853
233 0= [233) T PTIMEL 0y e F= 233
234 0= 12,33, 13) ~ Prime oy e 5= 101
239 fe=1239) ~PTIMEL 0y e p 5= 239
241 o= (241) TPTIME 0y e op =241
285 0= 5,7, 7) ~ Primeyy e gesi=19
248, — 12,22, 311 ~ Prime s e sxr-37
2504,0=12, 5,5, 5) = Prime s e sere-17
251 ez 1251) TPTIME Gy e n F= 251
252fac: (22,33, 7) = Lrime o gs=17
254710— 12, 127) TPTIMe 16y e p 34— 4579937329576774398276408998557697
257 o= 1257) ~PTIMEL0y sep =257
2610 133,29 = Prime oy e e 859
262 0— 12, 131] = Prime 4y i on 5= 204499937
263 10— 1263) ~PTIMEL0y s on F8= 263
268 .- 12,2, 67) ~Prime e zes-71
269 10— 1269) = PTIMEL 0y e op F4=269
27N o= 1271) PTGy e p F =271
273 o= 13,7, 13) ~Primeyy g 23
274 =12, 137 = Prime e gxr=139
277 fe=1277) =PV 0y sep =277
278 o= 12, 139) = Prime 4 s 0= 373301057
279 ae=13,3,31) = Primey yepgemr=37



281 = [281) = PTIMEL 0y e n F= 281

283 1= [283) ~PTIMEL 0y s n 5= 283

293 j1e= 1203) T PTIME 0y e F= 293

294fac=[2,3,7,7] Przme{l} KDFH =19
296,022, 2, 371 = Prime yy e s 43
298

 ae=[2, 149] ~ LTIy yeon =151
300412 2,3, 5,51 = Prime yy, yeopzes-17
304,— 1222 2, 19] =Prime gy s p g5 47046137
306,12 3,3, 17] = Prime oy, e ss=311
307 o= 1307) = PTIMEL 0y sen =307
3V 311y =PTIME 0y sen =311
313 = 1313) T PTIMEL 0y s p g=313
3164012 2,701 = Prime |y yeon 37— 83
317 e 1317) = PTIMEL 0y e p =317
32040-12,2,2, 2,2, 2,51 = Primeyy e sr-17
3251e=15,5,13) ~Frime s e gex-23
326/, 12, 1631 = Prime 5y s op g8t 26573
328 0= 12,2, 2, 411 = Prime y e sse-47
330 em1331) T PTIMEL Gy seon =331
333fac: 3,3,37) = Prime v e ssr-43
334 0= 12, 167) T PrIme 0y e op 3= 27803
337 jye=1337) = PTIMEL0y seop =337
342fac: 12,3,3,19] = L7Me 0y yeng5= 383
344 =12, 2,2, 431 = PTIMe 5y e on 3= 1861
345013, 5,23 ~Prime \y e sex-31
346fac: (2,173 = PTiMe 6y yeon 57 - 643780251284828743866259724717471297
347 o= 1347) T PTIMEL 0y sep F= 347
349 o= 1349) =PIy e op = 349
350 0= 12,5, 5,7) = Prime yy yep - 19
353 = 1353) T PTIMEL 0y s F= 353
357 fye=13,7,17) = Prime oy s g~ 347
358 o= 12, 170] = Prime 1y o zem— 131
359 jue=1350) = PTIMEL 0y e F= 359
360,0-12 2,2, 3,3, 51 = Primeyyy g gen—17
363,013, 11, 1] = Prime o, e s5i- 251
367 o= 1367) = PTIMEL 0y seon F= 367



368 012,22, 2, 23] ~Primeyy e -3
369fac (3.3, 41] = Prime e gp- 47
373 pe=1373] TPTIME 0y yen 5= 373
3764012, 2,2, 471 = Primeyy s 8-
379fac [379] = PTIMe 0y yeon =379
382fac:[2, 191] P”’me{l} K DFEH =193
383 1c= [383] ~PTIMELG) yeon 5= 383
384 122,222,223 ~Frime yy yepses-17
385 4e=15,7, 1) = Prime s e srr=23
386,= 12, 193] = Prime 5y yeon geat= 37253
387 =13, 3, 43) ~ Prime oy e - 1867
388 =12, 2, 97y = Prime 1y e =101
389 o= [389] ~PTIME ) eon 3 5=389
39040123, 5,131 = Prime yy yep 8- 03
394 0= 12, 197) = Prime y e = 199
397 fae=1307) ~PTIME ) seon 3=397
399 ue=13,7, 19) = Prime yy yep =29
4015~ 401) = PTiMe 0y yeon =401
40550133, 3,3, 5) ~ Primeyy weopgs-17
409~ [400] TPTIME 0y e 327~ 400
M2 12,2, 103) = Primeyy e ges= 107
om0 33 23 ~Prime s e gex-31
416fac: [2,2,2,2, 2 13] =Prime{1} KDFELH=23
o= 1419 =PTIMEL Gy e p 38— 419
420/0- 12,2, 3,5, 7) ~ Primey e sxr-19
21— 1a21) TPVIMEL 0y e p - 401
423 10= 13,3, 471 = Prime y yep g 53
24,0212, 2,2, 531 ~Prime s e 5= 59
429 je=13, 11, 13) ~ Prime gy g 20— 43083
B3 pom a31) =PTIME 0y e n = 431
432fac= (22,223 3,3~ Primeyy o171
433 0= (433) TPTIME 0y s 3= 433
43510=13,5,20) = Primey yepgemr—37
436,0= 12,2, 100] = Prime 1y e gen=113
439fac [439] = PTIMeL 0y ypeon = 439
443fac:[443] przme{o} KD FH = 443



446, (2 203) = PriMme 4y eon 5= 2472973457

48 122,22, 2,2, 7) ~ Prime yy yeo -

449 1= 1449) = PTIMEL 0y e 38— 449
4540 12, 207 T PTIME |y eon 3= 229

457 o= 1a57) ~PTIMEL 0y e p 38— 457

458 o= 2, 220) = LIMe, 4y o 3227 = 2750058497

461, 1461) = PTIMEL Gy yeon F 8= 461
462fac*[2, 3.7, 11 Prlme{l} KD 3=
463 .~ 1463) = PTIMEL 0y s op F8= 463
464fac= (2,2,2,2,29] = Prime yy e ss-37
465fac* 13,5,31] = LTIMe gy ypeon = 852891434627

466,12 2331 = Lrime oy e 5= 54203
467 1= 1467) ~PTIMEL 0y seon 3= 467
468, .~ 122,33, 131 ~Frime yy yepgesi- 3
72 0e=12, 2,2, 59) = PTIMe 15y eon 35 = 365409786560616989860401203
4754015, 5, 19] ~Primeyy e g — 29
477fac: (3.3, 53] = Lrime v oz 59
478 =12, 2309) = Prime 1y yeon =241
479 tue=1479) = PTIMEL 0y e op F 8= 479
482 10— 12, 2417 = PTIMe 4y e on g5 3373402577
483 1e=13,7, 231 = Prime 5y v op geai— 587
486fac— (23,3333~ Prime y o sr-17
87 o= 1a87) ~PTIMEL 0y s p 38— 487
488 0= 12,2, 2, 61) = Prime s e sxc-67
490012, 5,7, 71 = Prime sy e = 127
491 o= 1a91) =PVIMEL 0y e p 57— 491
496,,0- 12,2, 2,2, 311 = Prime oy e gae=977
499 1= 1499) = PTIME 0y e p 3= 499
Soofac: (22,55 5] - Lrime , yeo 19
303 = 1503) = PTIMEL 0y s F= 503
504,212,223, 3,71 = Prime gy g ges—19
307 o= 13,13, 13) = Primeyy o529
S08 =12, 2, 127) = Primegyy s gem= 131
309 e 1509) =PI 0y seon = 509
321 1so1) TPy s = 501
322 0= 12,3, 3,201 ~ LTiMme 1y e pr=37



323 o= 1503) T LTIy seon F= 523
33133, 59) = Prime oy e 2~ 3499
536fac:[2,2,2, 67] Prlme{l} KoK=
338 =12, 260] = Prime 1y yeon geae= o7

339 jue=17,7, 1) = Prime sy o - 2017

541fac [541] przme{o} D F = 541
ST fye=1547) = PTIMEL 0y seop 3= 547
S ue=13, 3, 611 = Prime o sa=67
550fac:[2, 55,11 —Prlme{l} KDL= 23

354 — 12, 277 T Prime oy e op ga= 76733

S5 ue=13, 5,37 = FTMe 8y yeon 7= 3512479851107
357 jye=1557) = PTIMEL 0y seop 3= 557
538 e=12, 3,3, 311 = Prime oy s ge5r- 083
5613 11, 17) = Prime yy pepgre-31
362 0= 12, 2817 = Prime 1y e gea— 283
363 0= 1563) = LTIy seon F= 563
566fac* [2,283) = PTMe 4y e 7= 6414247937
567 e=13,3,3, 3,71 = Frime y e gs=19
568 =12, 2,2, 717 = PrIMe sy yeon 5= 1804229447
369 e 1569) = PTIMEL 0y e n 5= 569
ST0%c=12, 3,5, 19] = Prime y yeops56=129
ST ez 1571) = PTIMEL 0y sfeop 3= 571
ST fae=577) =PTIMeEL 0\ e 8= 577
S84.0= 12,22, 7131 ~ Prime y e spxe=79
386,0= 12, 2031 = Prime 5y v pp g 85853
387 e 1587) = PTIMEL 0y spep = 587
393 = 1593) = PTIMEL 0y e F= 593
395 je=15,7, 171 ~ Prime 1y o529
599fac [599] = PTIMe 0y yeon = 599
600,,.-12 22 3,5 51 = Prime y yeopzs=19
601 1601) = PTiMeL 0y seon F= 601
603fac* 13,3, 67 = Prime v e srr-73
607 = 1607) = PTIMEL 0y seon F= 607
608fac= (2,2,2,2,2,19] = Prime y yep ss-29
013 1613) = PTIMeL 0y sep = 613
614, — 12 3071 = Prime 5y yeop 38— oa2s3



015 ,0= 13,5, 41) = Prime sy w2 - 60073
617 e— 1617) =TI 0y shep =617
619, 1610] TPTIME 0y yeon 557619
622 =12, 3117 = Prime 1y s gep— 313
626, 12, 3131 = Prime 5y s op g8t 97973
627fac:[3 11, 19] P”’me{z} KD FEH =491
628fac=[2,2 157) = PTIMe 11y veon e = 1428552404463 186019529189
6310 1631) =PI, sen = 631
634~ 12, 317) = Prime 5y v op ge3= 100493
639 =13, 3,711 = Prime 5y s #2= 5059
64012222, 2.2, 2, 51 = Frime yy o8- 19
641~ 16a1) = PTIME 0, s F= 641
643 = 1643) = PTIMEL 0y seon F= 643
647 e 1647) = PTIMEL 0y shep = 647
650,12 5, 5,131 = LTime oy e g8=1223
651 0= 13,7,31) = Prime \y yeo sz a1
052 0= 12,2, 163) ~ Primeyy o= 167
053 = 1653) = PTIMEL 0y seon F= 653
656,12 2,2, 2, 41] ~ Prime oy ez 1697
657 0= 13,3,73) ~ Frime |y e sx0-79
659 = 1659) = PTIMEL 0y seon F= 659
660, (2,2, 3,5, 1] ~Primeyy e -3
661 1661) =PIy seon = 661
0627, 12, 331) = PTiMe gy eon 5= 144086718355753024097
663 0= 13,13, 17) = Prime oy o 5= 467
664,12 2.2 831 =~ Frime y o539
6050 (5,7,19) = Prime 1y e s-31
673 = 1673) = PTIMEL 0y seon F= 673
675 pe=13.3.3. 5,51 ~ Frime yy g 8- 19
677 ue=1677] =PTIME0y sep 5= 677
683 = 1683) = PTIMEL 0y seon F= 683
684, . 1223 3, 19] = Prime , o209
686fac, (2,7,7, 7] =Prime{1} D F =23
091 = 16017 = PTIMEL 0y seon F= 691
694 12, 347y = Prime v s opgepi 349

098 = 12, 349) = PTIMe 16y yeon 5= 484403008029756 1986030134 7588732379759937



700,012,255, 71 = Prime oy o8- 107
T0L e 1701) =PTIMEL 0y seon =701
704021222, 2,22, 1] = Prime yy yeon 57—
705fac—[3 5, 47] = Prime oy o 5= 2243
709 e 1709) = PTIMEL 0y e n 8= 709
T3 3, 70) = Prime sy yeo 5= 493093
N2 pe=12,2,2 89) = Prime oy e 5= 7933
N &= 12,3, 7,171 = Primeyy yeo s -
TS =5, 11,131 = Primeyy s g5=29
T8 = 12, 350] = Prime 4y yeon 1~ 16610312177
719fac [719] = PTIMeL oy yeon =719
72040-12,2,2,2,3,3,5) = Primecyy e ss-19
727 jye=1707) = PTIMEL0y seop =727

733 4= 1733) =PI 0y s p =733

T340= 12, 367 = Prime gy e se3= 18141126737
738 =12, 3,3, 411 ~ Prime gy o8- 2825939
739fac [739] = PTIMeL oy yeon =739

T4 o= 13,13, 19) = Prime sy e 5= 15232312922903237963

T43 o= 1743) = PTIMEL0y e op =743
146, 12, 373) = Prime 5y i op - 139133
147 o133, 83) ~ Prime yy e s3-39

TS5 Lo 1751) = PTIMEL 0y e op =751

157 fae=1757) =PTIMEL 0\ e o 8= 757

758 0= 12, 379) = Prime gy eon 5= 20632736897
759 jue=13, 11, 231 = Primeyy o537
761 1761) =PIy sen 5= 761
766, 12, 3831 = Prime 4y s op ge1= 21517662737
768fac— (222222223 - Frimeg yeopss-19
769fac 17691 = PTIMeL 0y yeon =760
T104e=12, 5,7, 11] = Prime oy s g5= 199
712 4e=12, 2, 193) = Primeyy g 0= 197
773fac (773] ~PTIMe 0y s F8=773

TT4 =12, 3,3, 431 = Prime oy e gese= 1871
775 o= 15, 5,311 = Primegy yep s 41
776fac: (2,2, 2,97] = Prime e g5=103

777fac:[3,7,37] Przme{l} oD F R = 47



778fac—[2 389) = Prime 4y yeon - 22898045057
78001223, 5,131 = Prime oy e ges—o11
787 fye=1787) = PTIMEL 0y seop =787
792fac—[2, 2,2,3,3, 1] = Prime e g -
7954013, 5. 531 ~ Prime yy e gex0- 61
7961012, 2, 199] = PTiMe oy e on 4~ 489415464119070562823
797 fye=1797) = PTIME 0y sfeop =797
798fac:[2, 3,7,19] = Primeyy yep g 31
801513, 3, 891 TPTIMe 14y seon 38— 1956410986640441413353755779
808 02,2, 2, 1011 = P7ime yy o8- 107
809 e [300] LTI 0) et~ 309
8104-12,3,3,3,3,5) = Prime s e ses=19
8115 o— (311 =PTIMe 0 sep =311
8210 18217 PTG s i— 801
823 0= [823] TPTIMe ) s e = 33
824/~ 12,2, 2, 1031 = Prime \y yeo 8- 100
827 o= 1827) PTIMC 0y st = 807
829 = [820] TPTIME 0y yen 3557 = 829
8321c=122,2,2,2,2, 131 ~ Frime oy e 5= 193
833fac: (7,7, 17) = Prime v o =31
838 o= (2, a10) = Prime y s gep—an
839 e 1839] TPTIMEL0) s 7= 839
842fac: 12, 421] = Prime 1oy oo 57— 973898133213875918230007677219773667320257
845 fue=15, 13,131 = Primeyy yepgen= 31
847 o7, 11, 117 = Primeyy yeo 8- 129
848 012,22, 2, 531 ~Primeyy e 61
8504c=12, 5, 5,171 = Prime 1y yeogs=129
853 0= 1853] ~PTIMe(0) st =853
856 0= 12, 2,2, 107 = PTrimey e ssi-113
857 fye=1857) =PTIMCL0) s =357
858 =123, 11, 13] = Primeyy e g — 29
859 fuc= [859] “PTIME ) et~ 859
8610 (3,7,41) = Prime g, e 1= 4750222619
8620 (2, 431) = Prime yy s g- 433
8630 [363] LTIN[0y st =363

864fac:[2,2,2,2,2, 3,3, 3] P”lme{1} T DFEH=19



867 =13, 17, 171 = Frime yy yeog5-37

872 1c=12,2, 2, 109] = Prime 5y o 51— 182803912082053

873 14c=13,3, 971 = Prime y e s56=103

877 fae=877) ~PTIMCL0) st =877
878 rie= 12, 430) = Lrime 4y yeon 3= 37141383857
8810 1881] =PIy s F= 581
883 0= 1883] LTI 0) st = 883

885fac*[3, 5,59] P”me{l} KDFEHK=67

887 fue=[887) ~PTIMCL0) s =887
891fac—[3 3,3,3,11] = Prime gy yeo gs- 3

892 0= 12, 2, 2231 = Prime yy g =207

897 fae=13, 13, 231 = Prime 15y v g =21937922517674243
898 o= (2, a49) = Prime 4y e 34— 40642963217

903 13,7, 43) = Prime yy yemp - s3

904~ 12,2, 2, 113) = Prime oy e se30=12781
907 jye=1907) = PTIMEL 0y seon =007
909 e 13,3, 101) = Prime yy yem =107
NOye—12, 5,7, 13) = LPrime gy s 5= 4960147
MLy ro11) =PTIMEL Gy sep =011
916, 12, 2, 200) = Prime yy s =233
N9 e [910] TPTIME 0y 1o p 5= 919
922 =12, 461 = Prime 1y yeon x4 463
925fac: (s,5,37) = Prime \y e srr-47
926

fac= 12, 463] ~ LTIME 0y e ges=214373

927 fue=13,3, 103 = Primey yeoges=109
929 uc= 19201 =PTIME o)y o= 929

930pse=12,3,5,311 =Primegyy yepges-an

936,012, 2,2, 3,3, 13) = P1iMe oy yeon sz - 199

937fac [937] =prime{0} JeDFE M= 937
941 [9a1) =PTIMEG) yeon et —0a1
9= 12,2,2,2, 59 =PTIMEL 1y e gese=67
S fuc=15,3,3,5,7) = P1iMe 5y seonzes— 101

947

fac=1947] ~ PYIMeL0y yeon 50— 947
950c=12 5,5, 19] = Frime \y e zsr-31

953fac [953] = PTIMe oy yeon = 953
954

Hae=12,3,3, 53] ~ Frime o s5=61



957 jye=13, 11, 201 = Prime 1y e 5= 43
963 4= 13,3, 107) ~ Prime yy gz 113
964~ 12, 2, 241) = Prime 3y e g 10- 13097537
967 jye=1967) = PTIME 0y seon =967
969 = 13,17, 19] = PiMe 5y yeon 55— 659
N o= 19717 =PTIMEL 0y ypeon 5= 071
972fizc= (2,233,333~ Primey o ssm-19
74 o= 12, ag7) = Prime 5y s op - 237173
T tue=1977) PTIME0y ypep 5= 977
980c= 12,2, 5,7, 7 = Frime \y e sx-23
981 o= 3,3, 100] = Prime uy yeon g = 141158323
982 =12, 4017 = PTime gy 1 on g5~ 3377940044732998170977
983 uc=1983) = PTIME 0y e op = 083
987 jue=13,7,47) = Prime oy e - 2267
N o= 1901) =PTIMEL 0y s F= 991
992fac= (22,222, 31] = Prime s e sse-a1
997fac: [997] = PTIMeL 0y yeon =997
WEFHIEZED (4} LSO A8 E FH DXL {1000}, "2020-08-27-(04:05:00 AM)"  (2)
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